e 3 [T R e D K]
LRI EHDFE

- 1IN S BB E (I DECERIZAND

-FEIDBIC — N DIBE(IFERMDPDEZIEDFSZEEZ D
<>
dr X (=2) =4 xxx(=2)=4x(—-2) xx=—8x

1R S DTS
[ RO RS AR NS ENTES ]

TRl
dx+3)=4xr+4x3=4r+12
P HciER
—(Ba—2)=(—-1)x (Ba—2) = —3a+2
— FSHEDS
PFEHIC
3a — 1 3a—1) x4
el B DA 9 G2
2 2
<R > (5) —2(z —3)
ROETHZE Ko
(1) 3z x (—6)
(6) —(2z+7)
(2) (2a+1)x(-2)
(7) St x12

(3) (22— 3) x (=5)

(4) 3(a—4)

SakuranoStudyRoom <#EF5eEo BE = >



e 3 [T R e D K]

LR EBDTE
LRI E DK
- A CTIIAWERIDRES R ZAND T ENTED
- FTEN S DIGEFDECERIZAND
-1EMDEIC — DB DIBE(IEMDOHDOEZIEDFSZEZD

<>
dr X (=2) =4 xxx(=2)=4x(—-2) xx=—8x

3ZiaiERAl
4(x+3) =4 xXxx+4x3=4x+ 12
—(Ba—2)=(—-1)x (Ba—2) = —3a+2
— FEHEDS
PFEEIC
3a — 1 3a—1) x4
><4:( ) = (3a—1) X2 =06a—2
2 2
< Tt ER R > (5) —2(z—3)
ROFEEE X, —9(x — 3)
(1) 3z x (—6) =—20+6
3z x (—6)
—(2z+7)
(2) (2a+1)x (-2) =2z -7
(20 +1) x (—2)
= —4a—2 (7) 45 x12
ol x 12
(3) (22 —3) x (—5H) =(a—1)x4
(22 — 3) x (—=5) =4a—4
= —10x + 15
SS) 5a2—1 % (—6)
(4) 3(a—4) 25 x (=6)
3(a —4) = (ba — 1) x (—3)
= 3a — 12 = —15a+3

SakuranoStudyRoom <#EF5eEo BE = >



